HX—TIKk2 (A48

fHM3F4AH

REGMETIXRAKE ERKEHBRGEREREE

PRKEfRE 9:00

KEGRRBER ERSFKE BKHF (RK) )

=} Xz [im | KE|B E| pH [ZILAHY BEE H¥E | RIEY £ Y |E &

E REW | 44 Hy

C C |5 mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 i 17.0 15.1 15.2 1.75 49
2 = 18.0 15.3 12.0 1.77 53
3 = 17.0 15.5 14.0 1.72 41
4 = 19.0 15.1 9.3 7.66 36
5 = 20.1 14.3 18.8 1.79 94
6 = 14.0 13.2 30.6 1.73 45.2 54.8 127 5.2 1.07 0.03 51
7 i 14.5 13.1 9.6 1.76 28
8 i 16.5 14.2 7.3 7.82 26
9 = 14.2 13.6 8.5 7.82 26
10 i 1.0 13.3 6.3 1. 46 21
11 i 13.0 13.1 6.6 1.79 25
12 i 17.1 14.3 7.8 7.84 12
13 [55] 13.0 13.5 5.6 7.91 28
14 [55] 19.0 14.2 7.2 7.89 29
15 = 11.0 14.8 5.9 7.91 21
16 = 15.0 13.2 1.1 7.93 31
17 = 16.0 12.9 5.3 8.04 26
18 i 17.0 13.6 8.0 7.95 217
19 i 15.5 13.0 70. 6 7.70 123
20 i 17.0 14.2 10.5 7.78] 49.5 63.7 124 6.4 0.41| <0.02 40
21 i 23.0 15.6 9.9 7. 66 31
22 i 19.8 15.8 7.1 7.18 23
23 i 15.1 15.6 8.7 7.68 23
24 = 16.0 15.6 6.9 1.76 26
25 i 16.0 15.4 5.7 1.76 15
26 i 15.0 15.1 6.8 7.83 12
217 i 16.8 14.6 5.5 7.83 11
28 = 17.8 15.1 5.9 7.82 12
29 [55] 16.5 14.6 6.5 1.79 19
30 i 18.9 15.0 17.3 7.83 169

Ty 16.3 14.4 1.7 7.79 | 47.4 | 59.3 126 5,8 0.74| 0.02

=E 23.0 15.8 70.6 8.04 | 49.5 63.7 127 6.4 1.07 0.03

=K 11.0 12.9 5.3 7.46 | 45.2 54.8 124 5.2 0.41 <0.02




¥_RRX—IK2 (A4RH)

SH3F4HS
REEABTERAKE KERREREREE (EREFKS)
KR 9:00
KERRBRHER (ERFKSE @Kt GRK) )
B XE | KB | KB |B E| oH [TLHY BE | BRE |Etth| &% v |k &
E REM | A4 Hy
°C °C = mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 i 17.0  14.3 3.0l 7.40

2 = 18.0| 14.7 2.5| 7.46

3 = 17.0/ 15.0 2.3 1.47

4 = 19.0 15.1 2.4 1.47

5 = 20. 1 14.8 2.1 7.49

6 = 14.0/ 13.5 3.1 7. 61 43.8| 54.7 104 6.8 0.10] <0.02
7 i 14.5 12.6 2.2 1.37

8 i 16.5 13.0 2.5| 1.54

9 = 14.2 12.8 2.0 7.48

10 i 1.0 13.4 2.0l 7.38

11 i 13.0 13.1 1.7 7.53

12 i 17.1 12.9 2.1 7.44

13 [55] 13.0 13.0 1.5 7.61

14 [55] 19.0 13.8 2.2 1.52

15 = 11.0] 13.4 2.7 1.50

16 = 15.0{ 13.9 2.5| 17.63

17 = 16.0/ 13.3 2.4 1.52

18 i 17.0 13.9 2.4 1.55

19 i 15.5 13.0 2.6/ 7.51

20 i 17.0 13.0 2.9] 7.54 42.6] 53.5 106 5.7| 0.05 <0.02
21 i 23.00 13.9 2.6 1.21

22 i 19.8| 14.7 2.3| 1.43

23 i 15.1 14.0 2.6 7.38

24 = 16.0] 14.7 2.6/ 7.51

25 i 16.0 14.8 1.8/ 7.50

26 i 15.0 15.3 2.5| 1.54

217 i 16.8| 14.7 2.5| 17.60

28 = 17.8] 14.5 2.4 7.58

29 [55] 16.5 14.9 2.7 1.55

30 i 18.9 15.0 2.5| 17.59
Ty 16.3 14.0 2.4 7.50| 43.2 | 54.1 105 6.3 | 0.08| <0.02
== 23.0 | 15.3 3.1 7.63 | 43.8 | 54.7 106 6.8 0.10 | <0.02
=K 11.0 | 12.6 1.5 71.21 42.6 | 53.5 104 5.7 0.05| <0.02




